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QUESTION 1

Which NetApp tool provides a detailed inventory of SAN components?
A. Active IQ OneCollect

B. Interoperabilty Matrix Tool

C. Active 1Q config advisor

D. Hardware Universe

Correct Answer: A

ActivelQ OneCollect is a tool from NetApp that will create an inventory of your environment that will include hosts,
switches and storage and validate it against the IMT (Interoperability Matrix Tool).

QUESTION 2

You are implementing a new AFF A800 HA pair and are required to migrate NetApp E- Series E2624 data to the AFF
A800 controllers. You do not have a host server that is available for the migration. In this scenario, which NetApp
migration method is supported?

A. OnCommand Unified Manager (OCUM)

B. NetApp Data Availability Services (NDAS)

C. SnapMirror Synchronous (SM-S)

D. Foreign LUN Import (FLI)

Correct Answer: D

QUESTION 3

An administrator wants to design an NVMe solution to connect Linux hosts to an ONTAP cluster. The proposed solution
uses two Cisco MDS 9396T switches for each fabric in a top-of-rack design. In this scenario, which statement is true?

A. Asymmetric Namespace Access requires ONTAP 9.4 and higher.
B. NVMe solutions require heterogeneous multiple switch fabrics.
C. N_Port ID virtualization (NPIV) must be enabled on all switches.
D. A middle-of-rack design is required.

Correct Answer: C

QUESTION 4
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How do you configure the iSCSI-SendTargets datastore when the datastore is provisioned from NetApp storage?
A. You must configure jumbo frames when SendTargets-based iSCSI is used.

B. Use static discovery to add the target IQN.

C. Use dynamic discovery to add the target IQN.

D. You must configure a single protocol on the SVM when SendTargets-based iSCSI is used.

Correct Answer: C

Reference: https://www.vmware.com/pdf/vsphere4/r40_ul/vsp_40 ul_iscsi_san_cfg.pdf (37)

QUESTION 5

A customer is expanding an ONTAP 9.4 switchless 2-node FAS2750 cluster. Two AFF A220 nodes will be added to the
cluster. In addition to the cluster nodes, what else is required to perform the cluster expansion?

A. Additional management switches are required.
B. An upgrade to ONTAP 9.5 is required.

C. Cluster switches are required.

D. Additional DS224C shelves are needed.

Correct Answer: A
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